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G3-10: ['LfN', 'LfNT", "TsN', "TSNT']
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G3-10: ['LfA", 'peakTgtLAl']
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G3-10 (plot by DAT)

4
1 975
ouh._luﬁw
g S—
lﬂﬂ _.ﬂ.*
SIS
r._ -.I.
L _II—.
i
“_uL _|.4 _|4
e SRR
1 l-@ | “
| ™ e ~7° -9
rI“II.. “ _4 ...*
= -9 I
-Q _I. rl‘
] L I
am 5le Te "%, 1,
1 rlm ‘9 _|.£ ! |
o Ple 1T 97t
fll. I‘ “u I r* l.
.* | 4 L-9 I 1
Ly =0 o TV e
o T, e g 770
I -0 _I. 1 _.* !
.ﬂ o iy '-e 1
* T, tel
L-@ lﬂ. |ﬂ _lﬂllnﬂlll..
., ke
Tl Y -
e T Y il-—-e
le T 1
_Iﬂ ﬂ _II4_m
_ L
-9 | l-———®
‘v Tal
1 )
--9 151
_%rﬁlndm
e Lg% ]
1 I =
NE-
1!
i
[ ®
“ 2
] 5
! e,
e o 3
o o o o o o o
[(e] Te] < m (q\] —

Buippng a1y sAeqg

80

60

40

20

Days After Transplant



G3-10 TsN1 (plot by DAT)
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Days After Budding

G3-10 TsN2 (plot by DAT)
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Days After Budding

G3-10 TsN3 (plot by DAT)
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G3-10 TsN4 (plot by DAT)
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G3-10 TsN5 (plot by DAT)
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G3-10 TsN6 (plot by DAT)
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G3-10 (plot by adjDAT)
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G3-10 TsN1 (plot by adjDAT)
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Days After Budding

G3-10 TsN2 (plot by adjDAT)
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Days After Budding

G3-10 TsN3 (plot by adjDAT)
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G3-10 TsN4 (plot by adjDAT)
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Days After Budding

G3-10 TsN5 (plot by adjDAT)
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G3-10 TsN6 (plot by adjDAT)
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['S1L6']
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Plot [['sfTemp’, 'sflnit’, 'sfDeV', 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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